
� No.252B約両方-10-1 �

No.252B約両方-10-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 995.6÷ 0.9 (2) 82.84÷ 0.09

(3) 3.856÷ 0.006 (4) 9.98÷ 0.03

(5) 42.2÷ 0.3 (6) 9.818÷ 0.003

(7) 0.1549÷ 0.006 (8) 20.2÷ 0.9

(9) 7.348÷ 0.007 (10) 91.33÷ 0.3

� 13th-note �



� No.252B約両方-10-1 �

No.252B約両方-10-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 995.6÷ 0.9
1110
1106 · · ·

(2) 82.84÷ 0.09
920
920.4 · · ·

(3) 3.856÷ 0.006
643
642.6 · · ·

(4) 9.98÷ 0.03
333
332.6 · · ·

(5) 42.2÷ 0.3
141
140.6 · · ·

(6) 9.818÷ 0.003
3270
3272 · · ·

(7) 0.1549÷ 0.006
25.8
25.81 · · ·

(8) 20.2÷ 0.9
22.4
22.44 · · ·

(9) 7.348÷ 0.007
1050
1049 · · ·

(10) 91.33÷ 0.3
304
304.4 · · ·

� 13th-note �



� No.252B約両方-10-2 �

No.252B約両方-10-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.8124÷ 0.007 (2) 5.692÷ 0.06

(3) 7.373÷ 0.03 (4) 86.19÷ 0.9

(5) 39.5÷ 0.006 (6) 120.3÷ 0.06

(7) 2.153÷ 0.07 (8) 0.1034÷ 0.007

(9) 152÷ 0.6 (10) 785.5÷ 0.3

� 13th-note �



� No.252B約両方-10-2 �

No.252B約両方-10-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.8124÷ 0.007
116
116.0 · · ·

(2) 5.692÷ 0.06
94.9
94.86 · · ·

(3) 7.373÷ 0.03
246
245.7 · · ·

(4) 86.19÷ 0.9
95.8
95.76 · · ·

(5) 39.5÷ 0.006
6580
6583 · · ·

(6) 120.3÷ 0.06
2010
2005

(7) 2.153÷ 0.07
30.8
30.75 · · ·

(8) 0.1034÷ 0.007
14.8
14.77 · · ·

(9) 152÷ 0.6
253
253.3 · · ·

(10) 785.5÷ 0.3
2620
2618 · · ·

� 13th-note �



� No.252B約両方-10-3 �

No.252B約両方-10-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.6371÷ 0.006 (2) 7.937÷ 0.09

(3) 17.27÷ 0.09 (4) 81.23÷ 0.03

(5) 546.4÷ 0.7 (6) 2452÷ 0.7

(7) 62.42÷ 0.07 (8) 55.67÷ 0.3

(9) 78.16÷ 0.009 (10) 572.5÷ 0.09

� 13th-note �



� No.252B約両方-10-3 �

No.252B約両方-10-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.6371÷ 0.006
106
106.1 · · ·

(2) 7.937÷ 0.09
88.2
88.18 · · ·

(3) 17.27÷ 0.09
192
191.8 · · ·

(4) 81.23÷ 0.03
2710
2707 · · ·

(5) 546.4÷ 0.7
781
780.5 · · ·

(6) 2452÷ 0.7
3500
3502 · · ·

(7) 62.42÷ 0.07
892
891.7 · · ·

(8) 55.67÷ 0.3
186
185.5 · · ·

(9) 78.16÷ 0.009
8680
8684 · · ·

(10) 572.5÷ 0.09
6360
6361 · · ·

� 13th-note �



� No.252B約両方-10-4 �

No.252B約両方-10-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 187.7÷ 0.03 (2) 21.8÷ 0.03

(3) 304.6÷ 0.9 (4) 1.892÷ 0.006

(5) 0.3107÷ 0.003 (6) 6.902÷ 0.003

(7) 1647÷ 0.7 (8) 0.1559÷ 0.007

(9) 90.91÷ 0.3 (10) 353.6÷ 0.9

� 13th-note �



� No.252B約両方-10-4 �

No.252B約両方-10-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 187.7÷ 0.03
6260
6256 · · ·

(2) 21.8÷ 0.03
727
726.6 · · ·

(3) 304.6÷ 0.9
338
338.4 · · ·

(4) 1.892÷ 0.006
315
315.3 · · ·

(5) 0.3107÷ 0.003
104
103.5 · · ·

(6) 6.902÷ 0.003
2300
2300 · · ·

(7) 1647÷ 0.7
2350
2352 · · ·

(8) 0.1559÷ 0.007
22.3
22.27 · · ·

(9) 90.91÷ 0.3
303
303.0 · · ·

(10) 353.6÷ 0.9
393
392.8 · · ·

� 13th-note �



� No.252B約両方-10-5 �

No.252B約両方-10-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 309.8÷ 0.07 (2) 5282÷ 0.7

(3) 73.64÷ 0.9 (4) 5770÷ 0.6

(5) 61.18÷ 0.009 (6) 0.2101÷ 0.003

(7) 404.7÷ 0.06 (8) 56.69÷ 0.07

(9) 1.682÷ 0.006 (10) 81.49÷ 0.009

� 13th-note �



� No.252B約両方-10-5 �

No.252B約両方-10-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 309.8÷ 0.07
4430
4425 · · ·

(2) 5282÷ 0.7
7550
7545 · · ·

(3) 73.64÷ 0.9
81.8
81.82 · · ·

(4) 5770÷ 0.6
9620
9616 · · ·

(5) 61.18÷ 0.009
6800
6797 · · ·

(6) 0.2101÷ 0.003
70.0
70.03 · · ·

(7) 404.7÷ 0.06
6750
6745

(8) 56.69÷ 0.07
810
809.8 · · ·

(9) 1.682÷ 0.006
280
280.3 · · ·

(10) 81.49÷ 0.009
9050
9054 · · ·

� 13th-note �



� No.252B約両方-10-6 �

No.252B約両方-10-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 3.393÷ 0.006 (2) 9.637÷ 0.09

(3) 0.1786÷ 0.006 (4) 696.2÷ 0.3

(5) 4336÷ 0.6 (6) 176.8÷ 0.06

(7) 24.02÷ 0.009 (8) 1.634÷ 0.03

(9) 0.7204÷ 0.009 (10) 669.8÷ 0.3

� 13th-note �



� No.252B約両方-10-6 �

No.252B約両方-10-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 3.393÷ 0.006
566
565.5

(2) 9.637÷ 0.09
107
107.0 · · ·

(3) 0.1786÷ 0.006
29.8
29.76 · · ·

(4) 696.2÷ 0.3
2320
2320 · · ·

(5) 4336÷ 0.6
7230
7226 · · ·

(6) 176.8÷ 0.06
2950
2946 · · ·

(7) 24.02÷ 0.009
2670
2668 · · ·

(8) 1.634÷ 0.03
54.5
54.46 · · ·

(9) 0.7204÷ 0.009
80.0
80.04 · · ·

(10) 669.8÷ 0.3
2230
2232 · · ·

� 13th-note �



� No.252B約両方-10-7 �

No.252B約両方-10-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.2582÷ 0.006 (2) 52.82÷ 0.007

(3) 6.886÷ 0.009 (4) 13.82÷ 0.3

(5) 8.095÷ 0.009 (6) 703÷ 0.09

(7) 2.816÷ 0.03 (8) 13.79÷ 0.009

(9) 32.99÷ 0.09 (10) 9.481÷ 0.007

� 13th-note �



� No.252B約両方-10-7 �

No.252B約両方-10-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.2582÷ 0.006
43.0
43.03 · · ·

(2) 52.82÷ 0.007
7550
7545 · · ·

(3) 6.886÷ 0.009
765
765.1 · · ·

(4) 13.82÷ 0.3
46.1
46.06 · · ·

(5) 8.095÷ 0.009
899
899.4 · · ·

(6) 703÷ 0.09
7810
7811 · · ·

(7) 2.816÷ 0.03
93.9
93.86 · · ·

(8) 13.79÷ 0.009
1530
1532 · · ·

(9) 32.99÷ 0.09
367
366.5 · · ·

(10) 9.481÷ 0.007
1350
1354 · · ·

� 13th-note �



� No.252B約両方-10-8 �

No.252B約両方-10-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 29.21÷ 0.009 (2) 9.417÷ 0.06

(3) 434.6÷ 0.09 (4) 60.44÷ 0.03

(5) 4389÷ 0.6 (6) 0.6263÷ 0.007

(7) 372.1÷ 0.3 (8) 140.1÷ 0.07

(9) 38.37÷ 0.09 (10) 20.74÷ 0.03

� 13th-note �



� No.252B約両方-10-8 �

No.252B約両方-10-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 29.21÷ 0.009
3250
3245 · · ·

(2) 9.417÷ 0.06
157
156.9 · · ·

(3) 434.6÷ 0.09
4830
4828 · · ·

(4) 60.44÷ 0.03
2010
2014 · · ·

(5) 4389÷ 0.6
7320
7315

(6) 0.6263÷ 0.007
89.5
89.47 · · ·

(7) 372.1÷ 0.3
1240
1240 · · ·

(8) 140.1÷ 0.07
2000
2001 · · ·

(9) 38.37÷ 0.09
426
426.3 · · ·

(10) 20.74÷ 0.03
691
691.3 · · ·

� 13th-note �



� No.252B約両方-10-9 �

No.252B約両方-10-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 9.053÷ 0.07 (2) 28.79÷ 0.3

(3) 16.53÷ 0.07 (4) 3876÷ 0.7

(5) 681.6÷ 0.9 (6) 6.944÷ 0.06

(7) 65.77÷ 0.3 (8) 79.22÷ 0.7

(9) 0.6049÷ 0.007 (10) 4444÷ 0.9

� 13th-note �



� No.252B約両方-10-9 �

No.252B約両方-10-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 9.053÷ 0.07
129
129.3 · · ·

(2) 28.79÷ 0.3
96.0
95.96 · · ·

(3) 16.53÷ 0.07
236
236.1 · · ·

(4) 3876÷ 0.7
5540
5537 · · ·

(5) 681.6÷ 0.9
757
757.3 · · ·

(6) 6.944÷ 0.06
116
115.7 · · ·

(7) 65.77÷ 0.3
219
219.2 · · ·

(8) 79.22÷ 0.7
113
113.1 · · ·

(9) 0.6049÷ 0.007
86.4
86.41 · · ·

(10) 4444÷ 0.9
4940
4937 · · ·

� 13th-note �



� No.252B約両方-10-10 �

No.252B約両方-10-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 696.1÷ 0.09 (2) 69.28÷ 0.6

(3) 75.77÷ 0.07 (4) 8.564÷ 0.09

(5) 5.272÷ 0.06 (6) 47.14÷ 0.03

(7) 25.53÷ 0.9 (8) 17.35÷ 0.003

(9) 0.1401÷ 0.009 (10) 0.4972÷ 0.009

� 13th-note �



� No.252B約両方-10-10 �

No.252B約両方-10-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 696.1÷ 0.09
7730
7734 · · ·

(2) 69.28÷ 0.6
115
115.4 · · ·

(3) 75.77÷ 0.07
1080
1082 · · ·

(4) 8.564÷ 0.09
95.2
95.15 · · ·

(5) 5.272÷ 0.06
87.9
87.86 · · ·

(6) 47.14÷ 0.03
1570
1571 · · ·

(7) 25.53÷ 0.9
28.4
28.36 · · ·

(8) 17.35÷ 0.003
5780
5783 · · ·

(9) 0.1401÷ 0.009
15.6
15.56 · · ·

(10) 0.4972÷ 0.009
55.2
55.24 · · ·

� 13th-note �


